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1.

3.

4.

PHYSICS

The displacement of a satellite, if it
completes one revolution in its orbit
of radius ‘r

1) 2r

2) 0
3 /2
o ¥

Direction of motion changes
continuously in

1) Uniform circular motion

2) Non-uniform circular motion

3) Vibration motion

4) Variable motion

The resistance to change the state of
motion of an object depends on

1) Area of an object

2) Volume of an object

3) Shape of an object

4) Mass of an object

The unit of momentum is
1) Kg m™

2) Kgs™

3) Kg ms™

4) gms™
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1) Kg m™
2) Kgs™
3) Kg ms™
4) gms™
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5. The equation used to calculate the

force acting on an object is

1) F=m-a

2) F=mxa

3) F=a/m

4 F=m+a

. The average velocity of an object if it

travels 10 m in 3 seconds and further
15 min 5 seconds

1) 6.25 ms™
2) 0.625 ms™'
3) 62.5 ms™

4) 625 ms™

. The Kinetic energy of a body depends
upon

1) v

2) V3

3) WV

4) V2

. The nature of image when object kept

between optic centre and principal
focus of a convex lens is

1) virtual, erect and diminished
2) real, inverted and diminished
3) virtual, erect and enlarged

4) real, inverted and same size

5. 2,000 TEAT $ed b WO YRS,

FOTLROZNT BEWCTTED
1) F=m-a

2) F=mxa

3) F=a/m

4) F=m+a

. 20T TR 3 2E0RRY 10 e B3O

803 siéo@?sg 15 0¢ 2393, 9T
1o0R0 Jen

1) 6.25 ms™
2) 0.625 ms™
3) 62.5 ms™
4) 625 ms™
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9.

10.

11.

12.

A star which is twice as massive as
the sunis

1) Rigel
2) Betelguese
3) Sirius

4) Arcturus

Formation of elliptical galaxies are
due to

1) Collision between smaller spiral
galaxies

2) Collision between Meteors and
Asteroids

3) Collision between Planets and
Comets

4) Collision between Stars and
Planets

Big Bang Theory was proposed by
1) Christian Huygen

2) Galileo

3) Copernicus

4) Edwin Hubble

The speed of rocket increases
1) as it escapes earth’s gravitation
2) as it exceeds escape velocity

3) as acceleration due to gravity
changes

4) as mass of the rocket increases

10.

11.

12.
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CHEMISTRY SEECHEELY
13. The percentage mass of Oxygen in | 43 H,SO, 5@2 eﬁ?g%ﬁ%d 3033 gﬁsmé
H, SO,
1) 32.65
1) 32.65
2) 2.04
2) 2.04
3) 65.30
3) 65.30
4) 69.38
4) 69.38

14. Element used in the preparation of | 14. D.D.T. 30350030 WY 0B

D.D.T. 1) Rocs
1) Sulphur 2) &QGGW
2) Chlori
) orine 3) o3
3) Phosphorus
4) BRLINT®
4) Bromine
15. The equation represents 15. SOTOCRAT é)z;uéoﬁaﬁool TR
decomposition reaction TWCTTED
1) NH, + HCI - NH,CI 1) NH, + HCI - NH,CI
2) Zn +H,S0,—»ZnSO, + H, T 2) Zn +H,S0,—-ZnSO, + H,T
3) NaOH + HClI—NaCl + H,0 3) NaOH + HCl—NaCl + H,0
4) 2HgO—2Hg + O, T 4) 2HgO—2Hg + O, T
16. In SO, the valency of sulphur 16. 30366 nop3s RSB
(%] ~
1) 6 1) 6
2) 4 2) 4
3) 3 3) 3

4) 5 4) 5



SAT(K-8) N O A

17. The element which is not an ideal 17. BEAVTVT o
2
9as 1) SMOFS®
1) Argon
2) 33T
2) Kripton
3) BpeTox®
3) Boron
4) DOIPT
4) Neon
18. Match the following : 18. BR012 WB0WO :
A. Electron a. James Chadwick A. eada@sae a. aé’cwsf) LRTEENTE
=
B. Proton b. J.J. Thomson B. 3pctRs’ b. 2. . PoHT®
C. Neutron c. Rutherford C. ms@ae C. DT PR s
D. Nucleus d. Goldstein D. 2ewdeon d. Rece® Jew®
1) A-¢,B-d,C-b,D-a 1) A-c,B-d,C-b,D-a
2) A-d,B—c,C-a,D-b 2) A-d,B-c,C-aD-b

4) A-b,B-d,C-a,D-c 4) A-b,B-d,C-aD-c

19. After balancing the equation the 19. :3533@%6:@55:4 [OWRNAT To3T 0,
coefficient of O, DTMOET
KCIO, - KCI + O, KCIO, > KCI + O,
1) 3 1) 3
2) 4 2) 4

3) 2 3) 2

4) 1 4) 1
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20. Reduction reaction means
1) Loss of electrons
2) Gain of electrons
3) Addition of oxygen
4) Removal of hydrogen

21. The compound which causes
acid rain
1) HNO,
2) Na,CO,
3) Na,SO,
4) CuSO,

22. Rutherford’s experiment fails to
explain the
1) Size of the atom
2) Neutrality of the atom
3) Stability of the atom

4) Shape of the atom

23. Chemical used to prevent

decolourisation of dried fruits
1) CI

2) Na,CO,

3) NaHCO,

4) SO,

20.

21.

22,

23.

VDTTREO 30 QOTT

1) faeﬁa@a@mﬂ% TITIRRR)T
2) a@&e@ﬁmﬂ?&l CHAIANEACESEY LAY
3) SIRRITII), FHCORYT

4) BOTITII), SROIVT)T

TR TTLOTOT BOAsNF
1) HNO,

2) Na,CO,

3) Na,SO,

4) CusO,

TOTT PR T TdRCnm) 33 @oswsael
NWOTELD APOTOW.

1) TOTPERIT Mg,

2) BRIV Sésﬁgpesdsa

3) TTRIVERNS %{p@é

4) TORJPENNT T

200 TEQPAY 269 TRWIHTY, 3céneien
WSTT TITORAT

1) ClI

2) Na,CO,

3) NaHCO,

4) SO,
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24.

25.

26.

BIOLOGY

The reproductive part of
Bryophyllum

1) Spore

2) Leaf Bud

3) Stem cutting
4) Seed

In the given food chain, the amount of
energy at Fourth trophic level is 5 kJ.
The energy available at the producer

Grass — Grasshopper — Frog —
Snake — Eagle

1) 50 kJ

2) 500 kJ

3) 5,000 kJ

4) 50,000 kJ

The matching of the part of the cell
and its common name

A. Gateway of the 1. Chromosome
cell

B. Solar panels of 2. Vacuole
the cell

C. Packages of
hereditary

3. Chloroplast

information

D. Storage room 4. Cell membrane
of the cell

1) A-1B-2C-3D-4

2) A—-4B-3C-1D-2

3) A-3B-1C-2D-4

4 A-2B-4C-3D-1

24,

25.

26.
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1) 50 kJ

2) 500 kJ

3) 5,000 kJ
4) 50,000 kJ
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27. During swallowing the food, entry of

28.

29.

food particles into the wind pipe is

prevented by
1) Epiglottis
2) Pharynx
3) Alveoli

4) Bronchus

Humans fore limbs are shorter than
hind limbs, so they are classified

under

1) Order primates
2) Class mammalia
3) Phylum chordata

4) Family Hominidae

The correct statement regarding

yeast

1) The cellwall is madeup of cellulose
2) They belong to kingdom monera
3) The cells are Eukaryotic

4) They reproduce by sexual method

10
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30. In an Amoeba the part of the cell that

31.

32.

controls all the metabolic activities
1) Nucleus

2) Food vacuole

3) Contractile vacuole

4) Pseudopodia

The correct combination of
messenger proteins in our body

1) Keratin and collagen
2) Pepsin and Lactase
3) Trypsin and Lipase

4) Insulin and Haemoglobin

The advantage of growing chilli plants
between two rows of green gram
plants.

1) Chilli plants are protected by the
shade of green gram plants

2) Nitrogenous compounds prepared by
green gram plants can be utilised by
chilli plants

3) Chilli plants get water from green
gram plants

4) Chilli plants are protected from
pests in the presence of green gram
plants

11
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33. The resources formed due to earth’s

34.

35.

geological processes
1) Coal

2) Natural gas

3) Minerals

4) Petroleum

Since Humans have large cranium

they belong to genus
1) Homo

2) Hominidae

3) Sapiens

4) Primates

The primitive forms of life obtained

energy by

1) The fermentation of Inorganic

compounds

2) The discharge of electrical charges

due to lightning
3) The ultraviolet rays

4) The fermentation of organic

compounds

12
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34.
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36.

37.

38.

HISTORY

Read the following statements and
choose the correct alternative.

A) Meharuli’s Iron pillar and
Vijayapura’s whispering
Golgumbuz are the evidence of
the maturity of then science and
technical knowledge.

B) The Monuments of Nalanda and

the architecture of Madrasas built
by Gawan in Bidar narrate the
importance given to education
during those time.

1) Ais true and B is false
2) Both A and B are true

3) Ais false and B is true
4) Both A and B are false

In India, the relics of the hunting and
food gathering humans are found in

1) Lothal, Karnool and Mehargarh
2) Mathura, Banavasi and Kadapa

3) Bimbetka, Hunasagi and Karnool

4) Talagunda, Amaravathi and Kanchi

According to the Rig-vedic compilers
wealth means

1) House, Land, Cows and Gold

2) Palace, Soldiers, Camels and
Horses

3) Horses, Cows, Camels and Sheep
4) Gold, Land, Sheep and Agriculture

13
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A) HTTRICH ¢VIT Foys DI
DEEHTTT e 83T
JTRIT SenmSned
& POTYS am@ﬁ 02y
B0 ST HeTIN [ CIRNGI.

B) S¥onTOTE mTTNA I
RETOITY Ne® TJAT SHTWTH
STREBON WORT FOT %g £33
HTY, T3

1) AZO DD B IR

2) ARZ) BHTBRR RO

3) AT I B IO

4) AR BATRER 3T,

$e03RY Beed T wTT ToRTH
SRR udo#ﬁaez TNTST mma%d
BDTLIONE OPFTNTE :‘éeérw:
1) SRETCF, IIRFST D

W eacsien =
2) ROTT, TR DB IEH
3) a‘ﬁoaﬁe@%, VBN B FIPF S
4) SOYTIOT, WIVTOWS W) TOW

IPRET TUTFTT FROHY TOT,

NOTW3

1) 20T, LR, JINLD BB
Alelaple]

2) T, ﬂéaﬁdo, WOWNTL 3
BTVTN -

3) BDTVTNL, TROND, 20N
2B BONED

4) 033, PR, WONH W3

9.
Ge)w



SAT(K-8) N O A

39. The symbolic script with small | 39, ‘&meﬁég,ai’ NOW 55?@ zagsaz{eéﬁoel

drawings called ‘hieroglyphics’ was L¥RROR Hoded Don,
WSTITIT

used by -

. 1) B30T,

1) The Egyptians wTa
2) 23eQ0NT

2) The Chinese
3) NETTD

3) The Greece
4) d@em@cﬁo

4) The Romans

40. SR ARPRTY FBeLRODT T
Q0TT

1) RITBRIL
2) DVIOTLNEFND

40. The Patricians in the Roman society
were

1) The common people
2) The artisans
3) The soldiers 3) ﬂe@fdb

4) The elite 4) TSI

41. seynmnm‘i DOO3T JO3eOD
emgdmmoaﬁ RO0N.

41. Match the following and choose the
correct alternative.

1) Kundala Grama a) Mahaparinirvana 1) ﬁé%@w a) W?EF Sz
in Vaishali of Buddha WOBO MEH TORTEE
2) Pavapuri b) The first sermon 2) IO b) BT SeTO
of Buddha BREN
3) Deer Park in  ¢) Nirvana of 3) STTHFS C) SHOTONETE
Saranatha Mahaveera 20% NN QD
4) Kushi Nagar  d) Birth of 4) % SNT d) TNCTT
Mahaveera &I
1) 1-d,2-b,3-a,4-c 1) 1-d,2-b,3-a,4-c
2)1-c¢,2-a,3-d,4-b 2) 1-¢,2-a,3-d,4-b

3)1-d,2-c¢,3-b,4-a
4 1-b,2-d,3-c,4—a

3)1-d,2-¢,3-b,4-a
4)1-b,2-d,3-c,4-a

14
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42.

43.

44,

45.

‘Devanampriya Priyadarshi Ashoka’
appears for the first time in the
inscription of

1) Maski

2) Brahmagiri

3) Talagunda

4) Sannathi

The ‘Bhogapati’ in council of ministers
of Vardhanas refers to

1) Military general

2) The negotiator

3) Tax official

4) Justice officer

The person who was imprisoned
for selling salt with slogan, “You

buy Gandhi salt and the price is six
months imprisonment”.

1) Kamaladevi Chattopadhyaya

2) Ballari Siddamma

3) Umabai Kundapura

4) Yashodaramma Dasappa

The book “Karnataka Gathavaibhava”
was written by

1) Nijalingappa

2) Narayanrao

3) Kuvempu

4) Alur Venkatarao

15
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43.

44.

45.
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GEOGRAPHY AND ECONOMICS AV OIS 533_39 @5?%3

46. The fifth largest planet in the solar 46. ﬂadwﬁz@d DTIe BRT Nx

system is 1) rbdaﬁ&
1) The Jupiter 2) Sonen®
2) The M
) The Mars 3) B
3) Earth
4) 3N
4) Saturn
47. The southern hemisphere of the 47. PRWCH T RACTIPETRY,
earth is called ‘water hemisphere’ "RWOTTOR RACTITE” Q0TH
because TSR, T ¥Y
1) There is 81% of water and 19% of 1) 3¢. 81 TR, ROTE B
land 3e. 19 TR, LREPNITIZHT
2) There is 60% of water and 40% of 2) Je. 60 TI, ROTS )
land 3e. 40 TR, LREPONITIZHT
-
3) There is 75% of water and 25% of 3) 3e. 75 d“‘?s BOTO mgﬁ
land 3e. 25 TR LRIPNITIZHT

4) 3e. 60 TR, LN =B
3e. 40 TR, BOTISONTOFYT

4) There is 60% of land and 40% of

water

48. The contact zone of the crust and the | 48. 3R T3 TROW® TORET

mantle is RACTWRTOOR

1) Asthenosphere 1) QABHEIODT

2) Gutenberg discontinuity 2) MEET°WITE RCTIVROOD

3) Mohorovicic discontinuity 3) WDRJATRNAIT RCTIVROOR

4) Lower mantle 4) BROVST FITTH

16
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49. The inner most layer of the earth is
1) The mantle
2) The core
3) The crust

4) The continent

50. The disintegration of rocks without

any chemical alteration is known as

1) Chemical weathering
2) Denudation
3) Oxidation

4) Mechanical weathering

51. The topmost layer of the

atmosphere is
1) Troposphere
2) Mesosphere
3) Exosphere

4) Thermosphere

17
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52.

53.

54.

The layer of the atmosphere which is
free from clouds and provides ideal

flying for jet air crafts is
1) Stratosphere

2) Exosphere

3) Mesosphere

4) Troposphere

The method of conservation of

ocean among these is

1) Construction of check dams
2) Construction of coastal walls
3) Dredging

4) Transporting crude oil through

pipelines

Choose the correct list of ocean

currents of the Pacific ocean
1) Kurushio, Oyashio, California

2) South Equatorial current,

Norwegean, Benguela
3) Gulf stream, Labrador, Canary

4) Brazilian current, Falkland,

Benguela
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55.

56.

57.

The renewable resource among the

following is

1) Manganese
2) Iron ore

3) Solar energy

4) Coal

Accident insurance scheme open to

all Indian citizens between the age
of 18 to 70 years is

1) Pradhana Mantri Suraksha Bima
Yojana

2) Pradhana Mantri Jeevan Jyothi
Bima Yojana

3) Pradhana Mantri Fasal Bima
Yojana

4) Pradhana Mantri Krishi Bima

Yojana

Which of these is a cause for

agricultural distress in India ?

1) Development of technology

2) Uneconomic size of cultivated
holdings

3) Regional dispersonal of industries

4) Adequate credit from institutional

sources

19
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56.

57.
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POLITICAL SCIENCE, SOCIOLOGY &
BUSINESS STUDIES

58. Aristotle, an ancient political thinker

was the student of
1) Strabo

2) Socrates

3) Plato

4) Luther Gulick
59. “Without Administration a
Government is only a meaningless

Chatter” - This is the opinion of
1) Alexander Hamilton

2) Woodrow Wilson

3) L. D. White

4) Paul Applebee

60. The union Public Service

Commission function under the
following article of the Indian
Constitution.

1) Article 315
2) Article 77
3) Article 356

4) Article 320
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61.

62.

63.

64.

Karnataka Public Service Commission
was established on

1) 18" May 1951

2) 18" July 1950

3) 18" March 1951

4) 24" November 1950

Identify the wrong pair from the
following.

1) National Commission for Schedule
Caste — 2003

2) National Commission for Backward
Classes — 1993

3) Human Rights Declaration in France
- 1791

4) The Bloodless Revolution — 1688
To which of the following does the

compulsory B.Ed. training for high
school teachers belong ?

1) Skill training

2) Background training

3) Departmental training

4) Pre-service training

“The basic rights cannot be given
to any individual. Every individual

is born with the rights of living and
freedom” — This statement is given

by

1) Rousseau
2) John Locke
3) Montesquieu

4) H. J. Laski
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65.

66.

67.

68.

“Sociology is a Science of Social
Institutions” — This definition is by

1) August Camte
2) Emile Durkheim
3) Max Weber

4) M. N. Srinivas

The factor considered as the main
aspect of social change.

1) Religion

2) Political

3) Spiritual

4) Culture

Which one is not a feature of
Social Institution ?

1) Universality

2) Fulfilment of basic need

3) Disconnected relationships

4) Having a set of rules

Lack of common measure of value
was an important problem of

1) Hunting and Fishing State
2) Pastoral Stage
3) Handi Craft Stage

4) Barter System Stage

22

65.

66.
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69.

70.

A) Hawkers 1.

B) Peddlers 2.

C) Foot path traders 3.

D) Sandy Sellers 4,

Market knowledge or knowledge
about alternatives is provided to the
consumers by

1) Insurance companies
2) Advertisement
3) Banks

4) Transportation

Match the following and select the
correct answer from the code given
below.

List -1 List - Il

Sell utensils,
plastic things
etc.,

Sell goods in
busy street

Sell flowers
and
vegetables

Sell

locally
produced
agricultural
productions

Codes :

1) A-3,B-1,C-4,D-2
2) A-1,B-2,C-3,D-4
3) A-3,B-1,C-2,D-4

4) A-3,B-2,C—4,D-1
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71.

72.

73.

74.

MATHEMATICS

If a, b, c and d are co-primes, then
the greatest number that divides

(abed —dcba) is
1) 37

2) 9

3) 11

4) 27

1, 3, 6, 10, 15, 21, .... are triangular
pumbers. The 15" triangular number
is

1) 91

2) 150

3) 105

4) 120

Sanjeev has cuboids of sides 5 cm,
5 cm, 2 cm. Number of such cuboids
required to form a cube is

1) 20 2) 16

3) 10 4) 8

The sum of multiplicative inverse

7 _
of § and additive inverse of ? is
1) 62

63

-8

63

16

9

@

9

2)
3)

4)

24
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72.

73.

74.

neds

a,b,c 533_:9 d nsd I -
wQReEneend (abed - deba o,
PN ﬁaﬁ@ 5093;

1) 37

2) 9

3) 11

4) 27

1,3,6,10,15, 21, %2,3)83 ﬁo&%ﬁ%ﬂﬁ.
BWTY 158003 &% ’309323

1) 91

2) 150

3) 105
4) 120

moLeIN TIT 5cm, 5cm, 2 cm
@%*é’oﬁao% WRTNG BSONT TINYS.
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1) 20
3) 10

2) 16
4) 8
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9
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1) 62

63

-8

63

16

9

26
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3)
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75.

76.

77.

78.

79.

A shopkeeper sells an article at 20%
gain. If he had sold it for ¥ 36 more,
he would have gained 24%. The cost
price of the article is

1) 21,200
3) 2 864

2) X720

4) 3 900

If a sum of money triples itself in
12 year, then the rate of interest is
1) 12%

2) 162%
3

3) 12.5%
4) 16%

Perimeter of A ABC is 5x2 - x —-4. If

AB = AC and base BC = 3x?> - 3x — 2

then the length of side AB is

1) x> +x—1 2) X2 —x+1

3) 2x2 +2x -2 4) 8x>—4x—6
5.3 3.5

The simplest form of mn ;"2' n

is mn

1) m3n — m%ns

2) m°n®—mn?3

3) m>—n?

4) mn(m? — n?)

If m + n=-4 and mn =- 192 then the
value of ‘m’ and ‘n’ are respectively
1) 16,12 2) —16,— 12
3) — 16, 12 4) 16, — 12
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76.

77.

78.

79.
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1) x2+x—-1 2) X2—x+ 1
3) 2x2 +2x -2 4) 8x>—4x—6
5.3 3.5
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2.2 )
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1) m®n —m3n®
2) m°nd® —mn3
3) m>—n?
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FHIN M B N A BS

1) 16, 12
3) — 16, 12

2) —16, - 12
4) 16, - 12
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80. The sum of three consecutive odd

81.

82.

numbers is 219. The middle number
is

1) 71
2) 73
3) 75
4) 77

If a3 = 2, then the value of
3 4 2
=) =) (=)
is
2
[=°)

y
1) 2
2) —4
1
3) 1

4) 4

In the given figure AB || DE,

ABC =110° and |CDE =130°
Measure of |BCD is

A B

110°

130

1) 20° c
2) 60°
3) 110°
4) 130°
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80.

81.

82.

e RPN X3 ZoLne Ieg
219 83T PP Hos3,

1) 71
2) 73
3) 75
4) 77

a®=2s33

2) -4

1
3) —
)4

4) 4

4045 3ZRY AB || DE, [ABC =110°
=3 |CDE =130°. [BCDos &3

A B

110°

130°

1) 20° ©
2) 60°
3) 110°
4) 130°
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83. In the figure, exterior angles

BAE, |ACD and |CBF measure 2x,
3x and 4x respectively. The measure

of |ABC is

E

2x A

4x

3x

F

2) 60°
4) 120°

1) 20°
3) 80°

84. In the figure,

QT L PR, [TQR =40°and |SPR = 30° ,

Measure of |PSR is

2) 90°
4) 50°

27

83. 3O wordnes |BAE, |ACD ms_oo
CBFR¢ @¢3nw gzbwen 2x, 3x :»3_:9
4x 3338 |ABCe3y 9933

E

2x A

4x

3x

2) 60°
4) 120°

1) 20°
3) 80°

84. 23339 QT L PR, [TQR = 4053
SPR = 30°s%3 [PSRT w¥3

P

N

40
a R
1) 100° 2) 90°
3) 70° 4) 50°
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85.

86.

ABC is an isosceles triangle such that
AB = AC and AD is median to base BC.
Then |BAD is

A
35°
B D C
1) 110°
2) 70°
3) 35°
4) 55°

In the figure, AB ||CD, PQ || SR,
AS||BR, BAD =120° and |SRQ =70°

then value of ‘X’ is

A P D S
120°
X
70°
B C Q ' R

1) 50°
2) 60°
3) 70°

4) 120°
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85. ABC s:»zgmao $rY,

AB =AC 533_30 AD Bes3csn BC maﬁ%
53;358@&30@58 BADo® @3

A
35°
B D
1) 110°
2) 70°
3) 35°
4) 55°

86. 45 3R AB ||CD, PQ || SR,

AS||BR, |BAD = 120°=>3; |[SRQ = 70°
S8E3 X' 8 8BS

A P D S
120°
X
70°
B C Q R

1) 50°
2) 60°
3) 70°

4) 120°
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87.

88.

89.

90.

The average of six numbers is 27. If
one number is excluded, the average
becomes 26. The excluded number is

1) 26 2) 27

3) 32 4) 36

The median of 7, 10, 12, 15, x, 22, 24,
29 is 18. The value of ‘X’ is

1) 25 2) 14

3) 21 4) 29

A wire of length 100 cm is bent to
form a square. The area of square so
formed is
1) 25 cm?
3) 2500 cm?

2) 625 cm?
4) 10000 cm?

In the figure, AB||CD, |ABC = 90°,
AB =10 cm and BC = 8 cm then
area of AABD is

D < C

A > B

1) 160 cm? 2) 80 cm?
3) 20 cm? 4) 40 cm?
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A > B

1) 160 cm? 2) 80 cm?
3) 20 cm? 4) 40 cm?
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Instructions to Candidates

1. The Question Booklet containing 90 questions and the OMR answer sheet is

given to you.
2. All questions are compulsory, each question carry one mark.

3. During the examination,
* Read the questions carefully.

* Completely darken/shade the relevant oval against Question No. in the OMR answer
sheet, using blue/black ball point pen. Do not try to alter the entry and not to do any stray

marks on OMR Sheet.

* Ex: Ina question paper if SlI. No. 3 is the correct answer for Question No. 20, then darken

in OMR answer sheet shade circle 3 using blue/black ball point pen as follows.

200D 2 @ @ (This is an example only)

4. If more than one oval is darkened for a given question, such answer is treated as wrong

and no marks will be given.
5. The candidate and Room Supervisor should sign in the OMR sheet.

6. Candidate should return the OMR answer sheet only to the room supervisor before

leaving the examination hall.

7. The calculator, mobiles and any other electronic equipments are not allowed inside the

examination hall.

8. English version of the question paper will be considered as final, in case of any dispute

arising out of variation in translation version.
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